_,OL




HAAAGABCD o Eeo] dol7t 60 & u, x] ghe?

@D 6 @)8 ® 12 @ 13 ® 17

(B2 o)) = 2x (7FR2] Zo] + 29| Zo]) o]E& 2 x
(134 2x+1) = 60
wab x =8




B& e
@ zx=20°, 2y=20° @Ax:30°,1y:20°
® x=20°,y=30°

@ /(x=30°,y=30°
® 1x=30°, Ly=40°

/ADB = /x=30°

ABCD Ol|A] zx+ £y +130°=180°, £y = 180°-30°—-130°
20°

N\



ko)

C o] gABCD = H3JAHT

i)

S a3t 278 gABCD 94 AB = DC
[} KX

D =
Wl BAgoltt. Wl zho] Sol2 A

A~
2] e A2 B C

o |l

s
[e]
=

=

o

8o ofx >>‘

gO

21 AC & ZLojEH tiZhd AC = HZ43 ADC o A2
CBA 9] 3-F5-2o] Hr}.

AB=( ®)©°]a,AD=( @ )o|B=&

AADC = ACBA ( ® &%)

/BAC = /DCA, /DAC = /BCA( @ )

wheba] 4o tfgio] Z+7F ((® )SEE OABCD += B34t
g olt.

ofl

® CD @ CB
® SSS (@)AB = DC,AD = BC
® B3

@ AB//DC,AD //BC




5.

ohS AFZFRONA x,y O 22 AT E 73

A//,llcm~\\D

@® 11,65° @ 7,65°

® 115°,11
@ 115°,7 (@)11,115°

F A2 (T, AB//

AB//DC , AB =DC = 7(cm) °|2&
DABCD = HPAPHY ol
sox =11, 2y = 180° - 65° = 115°




oh2 23 o] A AHzke ABCD A x, y o] ghol &7 &A%l
AL
Ars= D
~ o /
y\ //
X 6cm
-\
(OXNEN
\
X \
ON
B 42 Ne
® x=42° y=12cm @x:48°,y:12cm
® x=48° y=6cm @ x=58° y=12cm

® x=058° y=6cm




mmo

=
=

® o

)

%
oR

o




ol
S

—_

Q)
O

ol
TR
.,

To°

Njo

ol

mmo
~
<A O
N
o =
o N
o Bk
® @

Hn
B oy
63 iy
X
1] S| S




9. & 1¥|A oABCD cooEFGH ©|t}. oABCD 2} oEFGH 9] &
glo] Ao]9] Hj=?

A
I80°
/ E
12 v 8,
; H
I
B Cp vaYel
TTe15-- Th9--T

@ 2:1 @ 4:3 @5:3 @ 3:5 ® 3:2

BC:FG=15:9=5:30]22 Eg|°] do|2] H|:= 5: 30|t}




10. o I A = A4ZE V-_ABC &V - A'B'C 7t &

y—x 9 g2?

GSHIEVA: VA’ =6:8=3:40|E&

x:4=3:4,4x=12 Sox=3
AABC @0 AA’B'CY O]BE2 /BAC = /B’A’C’
.. yO — 600

-x=060-3=57




11. o2 2"
252] dole

o

®)2:3

® 1:

SeHE=4:6=2:30°]|t}




- _ 2
AH’ = BHx HC o]|E2 82 = 6y, .'.x:%
lﬂlﬂyx10:8x@, .'.y:4—0
5 B
32 40
O x+y=—+ - =24

3 3




13.

O J1”olA x of AolE F5HH?

1 @2 O3 @4

® 5




14. c53} o] DE // BC 2 € o, DE ©] 2]
9

@D 7em @Gcm ® 5em
@ 4cm ® 3cm

5.5:11 =DE: 12
. DE = 6cm




15. o= I8 £2 ArgElE ABCDOlA A
AD//EF//BC A1 BE: EA =2:3 ¢
w, AD o] do]=?

@ 10cm @ 12cm ® 14cm

@ 16cm ® 18cm

S5 ~
9l 2-AH ABol| BaPgt AS JojH
i

BE:EA =2:3°|222:5=(7-5):
(E— 5) 0|}, mheEhA AD = 10cm




16. ©}2 1919 AABC oA A W] & D,E,F
22l o o, AABC 9] Ed|9] Zo]=?

D200 @21 ®2 @23 (@)24

oo,

o] MmN

%

A3 A2 Fl g

AB=2FE =10,

BC = 2DF =6,

CA=2DE =8,

- (AABC & B9 Zo)=10+6+8 = 24




17. o2 ™A HM,N o] ZtZt AB,AC 9
3 uj, BC ¢ Zo|& F3}H?

@® 6 @ 7 (@)8

@ 9 ® 10

=
/
!
S
/Z\ W

o

Q

BC=2MN=2x4=28




18. th2 JoA AD £ AABC 9] F4lojtt, A
AP =PQ = QD ©]1 AACD = 24cm? ¥
o, ABPQ ] HWol& F3toiet.

oo
)
Q

@ 6cm? @ 7cm? 3®)8 cm?

@ 9cm? ® 10cm?

BD = CD ©]E& AABD = AACD = 24 cm?
ABPQ = %AABD = % x 24 = 8(cm?)




50 B2} 27 : 64 91 5 BKAANA 2 HRAA ] & B el
o7} 6em & W, 2 FEAA ] & BA | Lol S F5hH?

@ 2cm @ 4cm 3)8cm @ 12cm ® 16cm

B

=87 a: b 2t St R0 Hl= AAIEE] Ho|BRg 43 : b® =
27 : 64

wakA a:b=3: 40|t}

2 ASHA ] BA2e] dolE x et olH6:x=3:4

s x=8(cm)




20. THS IR} o] ARTje] HolS A7) glstel 2E2 Izt BF —
12em 2w, 2] AlA| 2] Lol S FajH?

@ 5m @ 5.12m ® 5.9m

@®)5.25m G 5.4m

AC :DF = BC : EF

AC:10=1450:12

AC = 375(cm) = 3.75(m)

kA HE 9] 2ol 3.75 + 1.5 = 5.25(m) ©]tt.




